Square Root Review
Solving By Factoring

The square root of 9 is 3.

A) True.
B) False.
C) Who cares?

Many students actually look forward
to Mr. Atwadder’s math tests.
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Perfect Squares
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Square Root Properties

« Multiplication: Jab = W‘{B—
W \ & 4+ F{4+AQ
e Division: \/g=_ﬁ“

*There are NO sum («/q + b ) or difference (\Ja-b )

properties!!!



Simplifying_Radicals
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*A radical is fully simplified when...

the radicand has NO perfect square factors other than 1
there is NO radical in the denominator

the radicand does NOT involve decimals

the radicand is positive



ex: Simplify.

a)\/E=5



ex: Simplify.
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Simplify.
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ex: Simplify.
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ex: Simplify.



ex: Simplify.
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Rationalizing the denominator

ex: Simplify. 5
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ex: Simplify.
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Conjugate 4L

ex: Simplify.
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ex: Simplify.
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ex: Simplify.
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ex: Simplify.
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Solving Quadratic Equations By Factoring

*Use solving by factoring when given a quadratic that is
factorable.

ex: Solve. (Find the roots of the equation.)

a) x’=Jx=30=0
(x-6Y x+ 3= O
)




b) -2x* +34x=0

__gx()( "“|7) =0
L'TJ -—1’7 D

{,O l—?)

Q) x° =64

'z. (oq_D
(x \(*+2)=0
X-3=p X+8=0D

{w= 8,“&

Get the equation in
standard form
(if necessary)



d) ﬁéz +4x+1=0 perfect square

(ZX +m@x_|_ I):’ D trinomiai
017

(ax+l N X+ 1=
ax+bx+c Y “?)U,g\:hg%
e) 4x* -17x-15=0 3
(i +DN* -5)=0O (mUH"D‘? )

Gxr3=D ¥=S 7O
X=F X=8



f) 7Tx* -42 =-35x
7+ 35X~ 42 =0
2 (X5 '(’)’g
Yr—1)~ -
7$z2ié Y—[ =0 Y b, \l
9)x(x—4)=—4




Real Zeros

ex: Find the real zeros of the function.

a)f(ﬁ-l4r—2|x =

0= 4x—21%

O:_ 7X(;7_)<-—-3 )(:'O

b)\—l6r -2x-5 e
+1=0
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ex: What is the difference between zeros, .

roots and solutions? o o
Zeros/Roots are when a function is | - f’
equal to zero f(x) = x* -x - 6 (set |
equal to 0)

Roots and solutions are for equations
suchas x*-x-6=0



ex: Write a quadratic function in standard form with
integral coefficents given the zeros.

L integers

a) (2,0) & (-3,0) (;—q—\z;-l',[)p:g
) —( X— i % X \X¥
£63=(x=2)(x+3) bttt




ex: Write a quadratic function in standard form with
integral coefficents given the zeros.

Q) (-1/3,0) & (5/2,0)

d) x=0.5 multiplicity of 2



ex: Find x.

a) Area of rectangle = 36

X(x+5)= 30
X X‘7—+5x_ 3(0:_0
Xx+5 ()(a-q\ X-"'h.:p



ex: Find x.

b) Area of triangle = 42

2x + 8



